H & 0l & AHS B Ml A

20248 =0ila eI S

I AY BF(22/AIR)
el ALBSIAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ST 7,519,627 6,817,858 701,769
= 791,000
[ 144,276
Jl 1,013,294
< 1,386,586
Al 4,184,471
A2 BE(EH/2H9Z) 7,383,251 6,647,787 735,464
= 791,000
s 144,276
Il 1,013,294
= 1,386,586
Al 4,048,095
LS 1,356,494 1,464,098 /107,604
Jl 407,000
== 189,500
Al 759,994
HASEMHIA ghad 88,406 102,760 14,354
101 @124H| 23,006 22,920 86
MU OIRINZZENSES 23,006 22,920 86
OTEHA(JIZHM) el
80, 1002 x 12 *240 19,224
OTZEHAIZEM) =224
15,0202 x 1 +BAI2H9E 1,082
O7ZEAA(II2HH) 4HEE
19,224,000 *13% 2,500
OFZLAMLIIZM) X&HS HRE+0F
200,000& %1 200
201 et 3| 39,300 48,840 29,540
01 AtR2t2|H] 18,500 22,840 A4,340
OZEt=EH| 11,200,000& 11,200
OABMBARBS 2Y 4T
800,000 800
OBIHASR SAHAF 21 2 M=
1,300,000 1,300
o=l 2,400,000 2,400
OF=J| SX= 2,800,000 2,800
2 352484l 20,800 26,000 A5,200
0882= £ HA 4,000,000 4,000
OAE&EBIS X 7,200,000& 7,200
ORI eI 9,600,000 9,600
202 04| 9,000 10,000 21,000
01 =LHOLI 9,000 10,000 21,000
OZEH0H 9,000,000 9,000
203 HR=H] 3,000 3,000 0




2A:

Y 22 B (22A/LAAR)
el ALBSIAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 3,000 3,000 0
OAHLSN g 3,000,000& 3,000
405 Attt = 14,100 18,000 A3,900
01 ML ESFSHI 14,100 18,000 A3,900
0243 X=J1J| 7Y
250,000 »20CH 5,000
OZHOo F& 700,000 *3CH 2,100
OAZFHI(HIIX=I1)
7,000,000 *1CH 7,000
LS A G 2tel 570,520 708,278 A137,758
) 285,260
& 85,578
Al 199,682
101 @124H| 237,950 256,860 A18,910
Jl 118,975
< 35,692
Al 83,283
03 SR (RIHA) 222 183,600 180,000 3,600
OFJ== 2,500,000 6«12 180,000
Jl 90,000
s 27,000
Al 63,000
OAIRAZ 25 600,000 «6& 3,600
Jl 1,800
=S 540
Al 1,260
M ORINZZ2NSE S 54,350 76,860 A22,510
OJI=Z2(MEA)
2,250,000« 18~ 12& 27,000
Il 13,500
== 4,050
Al 9,450
OEI XS (MEAY) 2,200,000& 1 2,200
Il 1,100
== 330
Al 770
OJI2S(2HLEAN)
2,250,000« 1H+ 112 24,750
Jl 12,375
== 3,712
Al 8,663
OAIZAZ 2 (2HLE A O)
400,000& 400
Jl 200
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300
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iy
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iy
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iy

Il
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14,857
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Iy
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M AL BT(BH/EHAR)
Chel: HAZFANY (crol: M el)
A - B G(3H) - NRAY - HES ol b e HlmS2
= 150
Al 350
ONAMEIZATEAY SA 2
1,000,000& 1,000
J| 500
= 150
Al 350
O AAUS ALY AL 2H
1,000,000& 1,000
| 500
& 150
Al 350
OZHIEEANN 2 1,200,000& 1,200
J| 600
& 180
Al 420
14 J|EI2 A3 37,650 60,600 A22,950
Ot MESAY 29 7,000,000& 7,000
| 3,500
& 1,050
Al 2,450
O - HISAIY 29 3,000,000& 3,000
J| 1,500
& 450
Al 1,050
OdLE&HEH 2 A 2
3,000,000& 3,000
| 1,500
& 450
Al 1,050
OOtET] - AN 22 ALY 2
2,500,000 2,500
| 1,250
& 375
Al 875
OBXNEAHAE 29 2,150,000& 2,150
| 1,075
& 323
Al 752
OXIGA SETHEAY 22H
5,500,000& 5,500
| 2,750
& 825
Al 1,925
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SH: ABEED
Y 22 B (22A/LAAR)
Rl ALSEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 91,200 89,400 1,800
Jl 45,600
== 13,680
Al 31,920
03 SRA(RIH L) 222+ 91,200 89,400 1,800
OFJ== 2,500,000 «3F 122 90,000
Jl 45,000
=S 13,500
Al 31,500
OAlIRAZ 25 400,000 +3% 1,200
Jl 600
=S 180
Al 420
201 2= 35,930 49,280 213,350
Jl 17,965
=S 5,390
Al 12,575
01 At 2|l 28,930 47,080 218,150
Oz=dAY 29 28,930,000& 28,930
Jl 14,465
= 4,340
Al 10,125
02 S3=gHl 2,000 1,000 1,000
osE2= & HA 2,000,000& 2,000
Jl 1,000
= 300
Al 700
03 A= 5,000 1,200 3,800
o3¢ A 2 5,000,000& 5,000
Jl 2,500
= 750
Al 1,750
301 Eet2 NS 45,740 47,000 1,260
Jl 22,870
= 6,861
Al 16,009
14 JIEt2 a3 45,740 47,000 A1,260
0% 48 JIEE 7 3,500,000 3,500
Il 1,750
= 525
Al 1,225
O d S5k 39,240,000 39,240
Jl 19,620




SH: ABBEY
FH: A2 S (2A/2A2R8)
Rl ALSEALE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 5,886
Al 13,734
O us IAME 3,000,000& 3,000
Il 1,500
S 450
Al 1,050
M HA=RE=SS 9,000 9,000 0
Il 4,500
< 1,350
Al 3,180
4 BRA(RIHA)22N BEERES S 9,000 9,000 0
OEAXNE=3 9,000,000& 9,000
Il 4,500
== 1,350
Al 3,180
307 lztol & 56,000 56,000 0
Il 28,000
== 8,400
Al 19,600
0122 & 3= 56,000 56,000 0
Oos=dExM s 7Y 56,000,000 56,000
7l 28,000
= 8,400
Al 19,600
308 AHXIHMS0IA 5,610 0 5,610
7l 2,805
= 841
Al 1,964
18 SIS B XA AIE 5,610 0 5,610
Ooz=go & 21 5,610,000& 5,610
Jl 2,805
= 841
Al 1,964
HEdl ELIZESE X2 A 116,334 98,420 17,914
== 34,900
Al 81,434
307 212+01& 116,334 98,420 17,914
< 34,900
Al 81,434
0192 & 3=l 116,334 98,420 17,914
ooz ELl, YSEHE Al=tl
113,334,000 113,334
= 34,000




SH: ABBEY
FH: A2 S (2A/2A2R8)
Rl ALSEALE (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 79,334
OAr=2telH] 3,000,000 3,000
== 900
Al 2,100
ST XIHEZHl X3 25,534 23,340 2,194
= 7,660
Al 17,874
307 elztol & 25,534 23,340 2,194
= 7,660
Al 17,874
012z & 2=H| 25,534 23,340 2,194
ST ELl, SEHE, BE, & Al
=H| 25,534,000 25,534
== 7,660
Al 17,874
B0~64Ml MASE LEHE KZAL 82,800 82,800 0
= 24,840
Al 57,960
307 elztol & 82,800 82,800 0
= 24,840
Al 57,960
012z & 2=Hl 82,800 82,800 0
OB0~64Hl MASE SEZLE A=t
82,800,000 82,800
== 24,840
Al 57,960
THEAAY 3,000 3,000 0
307 lztol & 3,000 3,000
0192 & 3=l 3,000 3,000
O7LEUANY A=SA2E 7
3,000&+1,000& 3,000
A HEHON S ALS 36,000 20,000 16,000
301 EtE NS 36,000 20,000 16,000
14 0Bt 243 36,000 20,000 16,000
OAHZMIna 2ZAIZ 50,0003 x7202] 36,000
2AZE0E 24 39,100 30,000 9,100
201 =3 35,600 30,000 5,600
2 35244l 600 0 600
OgAME 2SI 600,000 600
03 A= EHI 35,000 30,000 5,000
oA 0ted 24 35,000,000& 35,000
301 LEtE N = 3,500 3,500
11 #AIAMHIXIZ S 2,500 2,500




2A:

M A SX(2A/BAC2)
Rl ALSEALE (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
O2gold AAMS 2,500,000& 2,500
14 DBt 2 a3 1,000 0 1,000
OZ A& 1,000,000& 1,000
St aE 2 1,386,101 1,399,224 A13,123
Il 522,362
= 181,255
Al 682,484
KNSARI HZZEAL ZALZA &2 68,708 68,708 0
) 34,354
Al 34,354
201 fer= 3| 500 500 0
Il 250
Al 250
01 AtR2telt] 500 500 0
ORXISFALS] AL XA 2SEES 7Y
500,000 500
Jl 250
Al 250
308 AXIHMSOIA 68,208 68,208 0
) 34,104
Al 34,104
13 SIS0t AS A 68,208 68,208 0
OXISAts] HAZZEAAL 68,208,000 68,208
Il 34,104
Al 34,104
SIHEEXN 2=Hl X AHY 155,960 216,066 260,106
Jl 77,980
s 23,3%
Al 54,586
308 AFAIEHMSOIE 155,960 216,066 260,106
7l 77,980
= 23,3%
Al 54,586
183 S| 2SO ZB XA AIE 155,960 216,066 260,106
Os|HE etk 2lgdl XI&
155,960,000 155,960
Jl 77,980
= 23,3%
Al 54,586
=Jtg2el X 239,483 261,287 A21,804
Jl 119,742
= 35,922
Al 83,819
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FA ABSL

HH: A ZF(2A/2A0R)
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